LO: | can divide by 100

Divide these numbers by 100.

800 = 100 = 8 1500 + 100 = 15
1.500 + 100 = __ 7.1800+100=
2.700+100 = 8.7200+100=
3.600+100= 9.3500+100=___
4.900 +100 = 10.7800 + 100 =
5 +100=3 1. +100=43
6. +100=1 12, +100=85

Match the calculation with the correct answer.

4,200 =10
420
4,200 =+ 100
42
420 =10

Use <, > or = to make each statement correct.

3600 =10 O 3,600 =+ 100

2,/00 =100 O 270 =10
4200 = 100 O 430 =10



Challenge

Eva and Whitney are dividing numbers by
10 and 100

They both start with the same 4-digit
number.

They give some clues about their answer.

F'r _
B
{ My answer has 8 ones ]

Eva and 2 tens.
My answer has 2
hundreds, 8 tens and O ==
ones. Whitney

What number did they both start with?
Who divided by what?



